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That is the pre computing step
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compare the two take the smallest

Linear time preprocessing log n queries
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Linear space
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Range Minima Queries in

constant time and Linear Space

use the above given solution

but be clever about the blocks

construct a Cartesian Tree

for each block off size s 1041
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The solution for the whole block is always
at the root



For partial blocks need to be able to

query a range within a block Cartesian

tree and get the answer back in constant tone

and need to be able to store all the trees
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Point is Cn E 0 4

so I 4s Cartesian trees of size s

ie 4104 Cartesian trees of sizes

Note result depends only on shape of
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like Then have a look up table for each
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